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— APOTTS IRIT PRY 1P ONT 'RD
Keren, which derives no pleasure from its damage, is not similar, etc.

OVERVIEW

The X713 is explaining (according to the 7"n that w5 7yam 11977 W Xin) the X7
"7 of our 7wn. The nature of 17p and @ are dissimilar, so one cannot be derived
from the other. However, it seems from the characteristics which the X973 ascribes
to Jw1 7P respectively,” that they can be derived from each other (with a 9mm 9p
[as the &7 mx will shortly ask]). n1o1n will explain how (at least in the X"¥7) the
ascribed characteristics mentioned would prevent us from deriving 121 179 from
each other.

mooIn explains that we cannot derive 1w from 17p, since by 19 it is AP°T2 7RI7 PR -
= 19WY 9199 19N HPAY 19V NNIYD 1Y NYAY YW DWW

So therefore it was gross negligence on the part of the owner (in the case of 17p),

for he should have guarded his ox, since it was easy for the owner to guard the
OoX -
- APOTAY NNIN PRY 193 POTNY NPINT PRV

Since by 177 there is no urgency (on the part of the 7w) to do damage, for the

W receives no benefit from this damage of 1p -
=19 95 NNIYY D199 NN RIY DNIN YD MHN NPITAY ANIN VIV Y DaN

However by 12, where she receives pleasure from her damage, it (the damage)
could be considered somewhat of an unavoidable accident, for he could not

have guarded her so well to prevent her from eating, so the owner should be > -
- IININY IANY PINT JUAY 1D

Since by @ there is this urgency to eat for its pleasure, which is difficult for the

owner to contain. Therefore we cannot derive a 211 by 2 from 77p.

mooIn now explains the second X7 &7; we cannot derive 17p from W -
= 199999 9159 HH2) NAPN NN PRI PTAY ININS PRY YU INT KDY

For the nature of j2 - which has no intent to damage and its destructive

inclination is not aroused; it can easily be guarded — (so J?) is not similar -
+119 79 95 NMIYY 9125 XY NP NIY PITY ININDT 19PN INYS

' See xv 1"7 X,2 MpoIN that the intention of 7y2n: >332 Wi 77 XY is that if only 7w (read 177) would be written in
the 770 we could not derive 7van (read ) from it.

2 The X7n) now states that 1P is APt AR PR and W is P12 anad PR, These seem to be characteristics which
would exempt the owner from payment (and would allow us to derive one from the other [with a 1"P]).
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To the nature of 397, which has intent to damage, and her destructive

inclination is aroused, so it is not that easy for the owner to guard it properly;
therefore we could not derive a 2111 by 772 from ]W.3

SUMMARY

The X773 maintained (in the X"17) that the more difficult it is to contain an animal,
the less liable the owner should be (for he should be considered oW 7°¥2).
Therefore the characteristics of P11% 102 and 7P°17% 1R17 W2 are reasons to exempt
the owner from payment.

THINKING IT OVER

How can we understand the opposite approaches of the X" (which maintains that
P12 NN and/or P17 ORIT WO is a reason Mwd?) and the subsequent Jwpn (who
maintains that P17 105 and P15 837 @0 is a reason 20m9)?”

3 The X3, however, negates this entire line of reasoning, and maintains on the contrary that the more the animal is
prone to damage (2°7772 W13 or P12 7RI w°) the more liable the owner should be. See ‘Thinking it over’.
4

See 11"nX.
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